A
F-CAT 05
FORTNIGHTLY CHILD ASSESSMENT TEST
Class 5
READ THE FOLLOWING INSTRUCTIONS:

1. All questions are compulsory.
2. Submit your sheets by 6:00 pm

-

a. Climber
b. Creeper
c. Herb
d. Shrub
. | saw many houses were quite spacious.
a. Which
b. Whose
c. Who
d. Where
3. lwentto a park | saw many peacocks.
a. Where
b. When
c. Were
d. None of the above
4. Science Is my favourite subject, it is so interesting.
a. Who
b. Which
c. That
d. Where
5. I like playing cricket it keeps me fit.
a. So
b. That
c. It
d. Because
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. Plant that needs support to grow usually along a wall oratreeiscalled _ 1mark

1mark

1mark

1mark

1mark
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6. What were the preparations in the palace for? 2 mark
7. What is the ice cream man compared to in the poem? 2 mark
8. Why did the old bird advise the other birds to destroy the creeper? 2 mark
9. Why did the geese pretend to be dead? 2 mark
10. Why was Robinson afraid when he looked at the bushes and trees? 2 mark

11.How would you feel if you saw unknown footprints outside your front door?2 mark

12.Read the paragraph and answer the questions: 6 mark
Jules Verne was a Frenchman who was born in 1828. He was not an inventor and he
was not a scientist, but he read a great many books on science. He had very strong
Imagination and he loved adventures although he did not have many great adventures
himself. He wrote a number of electing books about the things which he thought that
scientists and inventors would one day be able to do, At that time his stories seemed
like fairy tales.

Many of Jules Jerne’s attempts to look into the future, however, were surprisingly.
One of his look was called ‘From Earth to Moon’, In this three men and a dog made a
journey around his moon they did this in a hollow ‘Ship’ fired from a gun. After going
around the Moon, they returned to earth and splashed down into the sea not far from
where the first real Moon travelers landed in July, 1969 about a hundred years later.
Jules Verne’s most famous book is ‘Twenty Thousand Leagues under the sea’. Jules
Verne died in 1905. When he was seventy seven. Many years later, explores really did
go it the Moon and one part of the Moon was given Jules Verne’s name.

a. Who was Jules Vern

(a) inventor (b) scientist (c) writer

b. Three men and a dog made a journey around the Moon in a book.
(@) From earth to Moon

(b) Around the world in eighty days

(c) Twenty Thousand Leagues under the sea

c. Verne’s stories were like

(a) adventure  (b) fairy tales (c) imagination

d. How did the three men and a dog made journey around the moon.
(@) Through asea (b) Space Ship (c) In a hollow ‘ship’

e. When did the first real Moon travelers landed on Moon.

(a) 1828 (b) 1905 (c) 1969

f. Who given the name of Jules Verne

(@) one part of Moon (b) book (c) A dog

g. When did Verne die ?

(@) 1905 (b) 1969 (c) 1905

13.State true or false: 3 mark
a. The tree was the house of flock of parrots.
b. The wise old bird wanted the creeper to be destroyed.
c. The hunter climbed the tree with the help of ladder.
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d. When caught in the net the foolish birds began to weep.
e. The wise old bird helped them to escape
14.Traveller Al-Biruni came from 1 mark
a. Uzbekistan
b. Pakistan
c. Turkmenistan
d. Iran
15.0bjects which are heavier in weight __ in water. 1 mark
a. Float
b. Sink
c. Can’tsay
d. Both of them
16.Which of the following will not dissolve in water? 1 mark
a. Oil
b. 1 spoon milk
c. Lemon juice

d. Salt
17.Dandi march took place in which year? 1 mark
a. 1934
b. 1965
c. 1930
d. 1935
18.Where did this yatra took place? 1 mark
a. Punjab
b. Maharashtra
c. Gujarat
d. Tamilnadu
19.What are senses? 2 mark
20.What special sense do the following have: a. Ants, b. Mosquitoes c. Eagle 3 mark
21.What is mamidi tandra? 2 mark
22.Why was sugar and jaggery mixed into the mango pulp and dried in the sun? 3 mark
23. Fill in the blanks 10 mark
The iron nail in water but the katori . | think this happened
because
The empty plastic bottle on water. The bottle filled with water because
The aluminium foil when it was spread out. When pressed tightly into a ball it

. This may have happened because
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24. What do you mean by proper food? 2 mark
Questions from 25 to 44 are 1 mark each
25. 39+6x =39
A)39. B)4. C)6. D) 13.
26. 45-38+ = =21,
A)12. B)13. C) 14.D) 15.
27.23x3+  =90.
A) 20. B) 22. C) 21. D) 19.
28.What is the meaning of “S” in BODMAS?

A) Subtraction. B) Addition. C) Reduction. D) Botha A and C.
29.The measure of straight angleis ___ °.
A) 90. B) 80. C) 180. D) 360.
30.Area of square is represent by which unit?
A) Square unit. B) Unit. C) Sg. Unit. D) Both Aand C
31. If side of square is 5 centimetres then Perimeter of such squareis __ ?
A) 22 cm. B) 21 cm. C) 25 cm. D) none of these.
32. 5 rupees is equivalentto __ paisa.
A) 5000 paisa. B) 50 paisa. C) 500 paisa. D) can’t say.
33.Area of rectangle of size 10 cm length and 6cm breadthis .
A) 50 sg. m. B). 5000 Square cm. C) 60 Square cm. D) 600 Sg. cm
34.At which time hour hand and minute hand of clock show less than right angle?
A) 03:40 pm. B)04:50am. C)03:10am. D) Both AandC
35.At which time hour hand and minute hand of clock show right angle?
A) 04:00 pm. B) 04:00 am. C) 09:30 pm. D) None of these
36.The price of a pencil is 7 rupees the price of 7 such pencilsis ___ Rs.
A) 40. B) 48. C)49. D)42.
37.____ s special case of rectangle of which length and breadth are equal.

A) Square. B) Rectangle. C) Triangle. D) None of these
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38.Abdul is twice of Ansari’s age if Abdul is 44 years old then Ansari’s age is

years.
A) 20 years. B) 46 years. C) 42 years. D) 22 years.

39.A motor boat moves at speed of 16 kilometre per 60 minutes then what distance it
cover in 90 minutes.

A) 20 kilometre. B) 22 kilometre. C) 30 kilometre. D) 24 kilometre.

40. In 10 mm thick book there are 50 pages if thickness of book increase by 10 mm
the number of pages in book will be?

A) 110. B)100. C)200. D) 150.

41.How many square we can cut from rectangle of size 5 mx 2m.

A)3. B)4. C)2. D)5.
Jhansi and her sister took a loan of Rs 21,000 to buy a log boat. They paid back a
totalofRs 23,520 in one year.

42.How much did they pay back every month?

A) Rs 1920. B) RS 1930. C) Rs 1900. D) Rs 1910.
43.Interest paid by Jhansi was __ Rs.
A) 2520. B) 3520. C) 4520. D) 25.20.

44 \When fresh fish dried it become 2/3 of it's original weight then if fresh fish weigh
30kg when it becomes dry it weigh _ Kg.

A)24. B)20. C)30. D) 25.
45. Find the side of square with area 16 square cm.(2)
46. Convert Rs 6.5 into paisa. (3)

47. Find the breadth of rectangle whose area is 48 square cm and length is 6
cm. (2)
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